normalized X?

1)
2

[ normalized x? probability |

Ratio

0.06

0.05

0.04]

0.03f--+

0.02

0.01f

Entries
LTtrTThT LT T | Mean 0.5404
. o [sdpey 0.317:

o

461748

0 2 4 6 8 10 12 14 16 18 20
X2

0.10203040506070809 1
Prob(x?)

——
DQMstep3_QCD_defaultCHECK

<op_/p_> (%)

T

T

A C A 2.5_
e s
< 1. =~ [
o > 2F
\" \" :
1.5F-
'y
o.5f
° : o O
© : T
@ . @
0,95 =+ e mm e e 0.95f
*fot 1 10 1(l)2 0 KR 102 101
&T AR(track, jet?
S
A
-
e
a
o
el
\"
o 5 :
© :
[vd .
0.95f = - wemm e e
0. .
107 1 10 10%



	Contents
	Page 1


